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ALLIED COURSE III

EUSINESS STATISTICS . 21 UCCA31

BUSINESS STATISTICS - 21 UCCAS1

1

Name of the Student *

Register Number s

Untitled Section

co1:K1:whlch is the process of organizing data into categories that
make it iseasy to retrieve, sort and store for future use?

Mark only one oval.

Classification

Tabulation

Ordering Arranging

co1:K1:which is the reciprocar of the arithmetic mean of ther€ciprocals? *,

Mark only one oval.

2

* I point

I point

Harmonic

Arithmetic

Geometric

Average

mean

Mean

Mean

, ,.,, ..r' a,.lr, . i''-,.
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6.

BUSINESS STATISTICS - 21UCCA31

J co1:K1;which measure of dispersion ensures highest degree ofreliability? * I point

Mark only one ov(il.

Standard deviation

Range

Mean deviation

Quartile deviation

4 co1:K1: which measure of dispersion is reast affected by extremevalues?'n I point

Mark only one oval.

Quartile deviation

Range

Mean deviation

Standard deviation

5. CO1:K1:Who proposed the idea of correlation? *

Mark only one oval.

Karl Pearson

R.A. Fisher

Sir Frances Caleton

Spearman.

co1:K1: which one of the foilowing is most commonry used indexnumber? *

Mark only one oval.

Price index number

Volunie index number

Value index number

Sirnple index number

I point

l point

https://docs.googre.com/forms/d/lZoyuwjm_w6c4cbzhSghkutwuXXeevw3sytJpZEM_j_E/edit
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BUSINESS STATISTICS - 21UCCA31

7 co1:K1: which method is used to measure the securar trend?

Mark only one oval.

Movfurg average method

Free hand curve

Semi-average method

Method of least squares

CO2:K2: Describe the nth root product of n numbers. *

Mark only one aval.

,k

8

I point

l point

I point

I point

Geometric

Arithmetic

Harmonic

Mean

Mean

Mean

{-*-i Average

9 co2:K2: what does the square of standard deviation represent? *

Mark only one oval.

Variarce

Square deviation Mean

square deviation

Median square deviation

10. CO2:K2: Find the relationship, if r=0. *

Mark only one oval.

No correlation

Linear correlation

Perfect correlation

https://docs.google.com/forms ldllzoyuwim-w6c4cbzhsghkutwuXXeQvw3sytJpzEM-j_E/edit
3t7
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12.

BUSINESS STATISTICS - 21UCCA31

CO2jK2: Find the geometric mean between the regression
coefficients. * I point

Mark only one oval.

coeffi cient of correlation

coeffi cient of regression coefficient

of variance coefficient of standard

deviation

CO3:K3: How would you express an lndex numbers? *
I point

Mark only one oval.

Percentages

Ratios

Square5

Combinations

13. co2:K2: lndicate an index which is used to compare the cost of 'i I point
living at twodifferent cities.

Mark only one oval.

Consumerprice index

Volume index

Un-weiglrted index

Value index

https://docs.googre.com/forms tdhzoyuwjm_w6c4cbzhSghkutwuXXeevw3sytJpZEM_j_E/edit
4t7
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14.

BUSINESS STATISTICS - 21 UCCA31

co3:K3: Describe the set of data which is arranged in accordance with * l point
their timeof occurrence.

Mark only one ovsl.

Time series

Arithmetic series

Geometric series

Harmonic series

15. CO3:K3: Find out the measures of central tendency. *
I point

Mark only one oval.

a) Arithmetic Mean

b)Range

c) Mean Deviation

a; Standard Deviation

16. CO3:K3:Find out the range of 5,1 2,15,7,g. *

Mark only one oval.

l point

I point

l0

l5

B

5

17. CO2K2: Find the range of 
,correlation. 

x

Mark anly one oval.

+l to -l

0to I

0to-l

0 to Infinitive

https://docs.googre.com/forms tdhzoyuwjm_w6c4cbzhsghkutwuXXeevw3sytJpzEM_j-E/edit
517
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t9.

BUSINESS STATISTICS . 21 UCCA31

18. CO3:K3:Find out the purpose of index numbers

Mark only one oval.

l point

Forecasting

Planning

Coordinating

Controlling

co3:K3:Describe the methods which is used to measure a trend. B I point

Mark only one oval.

Free hand curve method

regular rnethod

secular method

{* l: irregular method

20' co2:K2lndicate the short term components in time series. {,

Murk onl.v one oval.

Seasonal variation

Secular variation

Cyclical variation

regular variation
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BANKING THEORY LAWANDPRACTICE . 21UCCC12

Name *

Register Number *

Answer all the questions

Mark only one oval.

Choose the best answer

bankus

I point

* 
1 point

co1:K2Find the relationship between a banker and customer, when
the bankeraccepts the deposit.

Mark only one oval.

and creditor

Bailor the and Bailee

Drarver and Drawee

Agent and Principal

20112121,03:16pM BANKING THEORY LAWAND PRACTICE .21UCCC12

_r Indfcales requir.erJ questiqll

https://docs.google.com/formq/d/'lSrwj3uxkGWtx2taHWCx5-8MgEu2HSgLzTaAtJoteouedit
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20112121 ,03:16pM BANKING THEORY LAWAND PRACTICE -21UCCC12

3' ca1:K2 Sate which one of the following is called the most liquid asset? * I point

Mark only one oval.

cashgold

bill ofexchange.

govemment bonds.

4. CO1:K2 Find the person who maintains pass Book. *

Mark only one rnal.

Banker

Customer

Creditor

Debtor

Ca1:K2 What is validity period of cheque? :r

Mark only one oval.

3 months from date of issue4

months frorn date of issuel

nronth from date ofissue

Unlimited

6. CO1:K2 Trace the one who is holder? *

Mark only one oval.

Possession of NI

Possession of loan

Possession ofasset

Possession ofdeposit

l point

I point

I point

5.

https://docs.google.com/forms/d/l5pwj3UxkGWlx2taHWCxs-8MgEu2HSgLzTaAuoteouedit
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7

BANKING THEORY LAWAND PRACTICE -21UCCC12

co1:K2 state no. of days in a year RTGS system works? *

Mark only one oval.

CO2:K2 ldentify the rule which follows the appropriation of accounts.* r poinr

Mark only ane oval.

Claytons

Pagets

Kinlay

Sheldon

CO2:K2 State the other name for saving Deposits. *
I point

Mark only one oval.

362

365

300

305

Running deposits

Accrued Deposits

Recuring Deposits

Demand Deposits

I point

I point
10. CO2:K2 What is the safest form of crossing? ,!

Mark only one oval.

A/c Payee crossing

General crossing

Special crossing

Double crossing

https://docs.google.com/forms/d/151/wj3UxkGWlx2taHWCxS-BMgEu2HSgLzTaAlJote0uedit
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11

12.

13

BANKING THEORY LAWAND PRACTICE -21UCCC12

co2:K2 Describe the cheque which is dishonored without anyjustifiable reason.

Mark only one oval.

Wrongful dishonour of cheques

Valid dishonour of cheques

UnmindfuI dishonour of cheques

Negligence dishonour of cheques

Mark only one aval.

True owner ofthe cheque

Drawer of the cheque

Collecting banker

First endorser

co2 :K2: Find the one to whom the paying banker shail be riabre formaking cash payment of acrossed cheque at the counter?

* I point

l point

co2 :K2: rdentify which one of the foilowing is cailed importer,s bank. *

Mark only one aval.

Collecting Bank

Paying Bank

EXIM Bank

Forex Bank

4t8

I polnt



Mark only one oval.

{"* 
-} 

use

co3:K3: ldentify the person, who is entrusted with some property by
the settler orthe author of the trust for the benefit of beneficiary.

Mar.k only one oval.

Trustee Attorney

Executor

Mark only one oval.

Bailee

Pawnee

guarantor

l point

x I point

I point

20112121,03:16pM

14.

15.

16.

BANKING THEORY IxWAND PRACTICE -21UCCC12

ca?:K2: state the country which first emerges credit cards in1g20s *

CO3:K3: How would you describe the Bailor in pledge? *

https://docs.google.com/formq/d/'l5l/wj3UxkGWtx2taHWCxS-SMgEu2HSgLzTaAUoteoldedit
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20t12t21, BANKING THEORY I.AWAND PRACTICE .21UCCC12

17 " co3:K3: Describe the terrn which means 'something legally
transferable fromone person to another for a consideration.

Mark only one aval.

Negotiabie

Instrument

bailment

alteration

18. CO3:K3: How would you describe the paying banker? *

Mark only one oval.

Drawee Bank

Importer's Bank

EXIM Bank

Forex Bank

co3:K3: ldentify the instruments which is not used in banking * l point

transaction?

Mark only one oval.

PAN

Cheque book

pay in slip

pass book

I point

* I point

https://docs.google.com/forms/d/157wj3UxkGWlx2taHWCxS-SMgEu2HSgLzTaAlJ0te0uedit
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2A.

BANKING THEORY LAWAND PRACTICE - 21UCCC12

co3:K3: Find out the year in which, swlFT was estabrished. *

Mark only one oval.

May l9V3

April 1973

July 1973

October 1973

This content is neither created nor endorsed by Google.
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sRI KALISWARI COLLEGE (AUTONOMOUS), SIVAKASI

DEPARTMENT OF BUSINESS ADMINISTRATION
IYEAR-ISEIVIESTER

" 2022-2023 ODD SEMESTERS

sKrLL ENHANCEMENT COURSE -I: SOFTSKILTS - 21UBASX.1/?LUBPSLL
(From 202L-2O22 Batch onwards)

QUIZ

Name of the Student:
Class :IBBA&IBBA(CA)

Register No:

Date ;28.1O,.2022

v,
0)otr(,H

IiO59
u5

Ot'- 6)tr>o0)
EX

Questions

Choose the Coruect Answer:

I c01 K1
Which is the best way of thinking to develop so ft skills?

a) Creativity b) Attitude c) Beliefs d) Behaviour

Which of the following is not a Soft Skill?

2
aJTime
Management
Skills

b)Typing Skills c)Communication
Skills

d)Listening Skills

Who propounded the term KNOW THYSELF?

K1 a)Socrates b) William c)David d) Fayol

Which is the best waY helPs to find some time to relax?

a)Walk b)Exercise c) I{obbies d)Mediation

What is Aggressive BodY Language?

a)Showing
physical threat

b)Showing real
interest

c)Showing
attraction to
others

d)Meeting rituals

Which of the following is not a tYPe ofbody language?

c01 a)Eye Contact bJ Motivation c) Handshake d) Facial
sstons

Which one of the following is not a secret of time management?

ry K1
a)Value of Time b)Time Budgeting c) Concentration dJlnformation

What is the other of nhme of B0:20 rule?

)Pareto Principle b) Marx Principle d) Keynes.

Pnnci le Princi le

Who developed bY FourB ranch of Model of EI? I

U c01 K1

c)Marshall d)Marsrhall and

Sr

Mayer and bJMayer and
S Salmon

I c01

3. II c01

4. co1 K1

5. III c01 K1

6. K1

7. c01

B. c) Marshall

9. v



Which one of the following is a recent behavioural study rising to prominence?

d)Time
Management

aJlnterpersonal
skill

b)Emotional
Intelligence

cJBody language

Which skill includes the ability to lead, motivate and delegate?

b)Negotiation c)Communication
skill

d) Interpersonal
skill

a)Team working

Which of the following technique can be fashioned to meet individual as well
as corporate needs?

d) swoTaJGD b) cv c)WHAT
' coz

Expand-SWOT

dJStrengths,Weak
nesses,0vercome
and Threats

co2 K2 aJStrengths,Weak
nesses,0pportuni
ties and Threats

b)Strengths,Weak
nesses,0pportuni
ties and Thinking

c)Straight,Weakn
esses,0pportuniti
es and Threats

Which is the best way of a tool helps you plan time and work?

c)Analysis d)Calculus
coz

a)Schedule b)Matrix

Which of the following refers to sum total of your ability to interact with other
.people?

d)Body Languageb)Emotional
Intelligence

c)Tirne
Management

a)lnterpersonal
Skills

Which type of skills are essential requirement for technical, engineering and IT

rofessionals?
dJ Thinking Skillc)Communication

skill
aJ Negotiation
Skills

b)lnterpersonal
skill

16.

Which of the following is the process of helps to observe yourself in the present

moment?
d)Do some
outings

c)Develop new
interests

aJ Exercise
regularly

b)Practice
Mediation

II c03

Which one of the following is a term for communication using body

movements?
18. C03, d)Emotional

Intelligence
c)Perceptionb)Attitudea)Body Language

Which one is not the overcoming procrastination in time manageme nt?

d)supplyc)Ask "Why"K3
aJBreak it down b)Get Help!9.

Expand -EQI

a)Emotional

Quotient

b)Enquiry
Quotient

c) Emotional

Quotient
Innovation

d)Emotional

Queries Inventory
c03

+:*'-E--

f'
P

C) \ft#
Principal II:;; ,AED

(Autonomotir)

$RI KALI$uliAftj C(JLLEOI
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SIVAKASI - 526 l30'
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13.

14.

1lIJ. V COZ K2

I c03 K3

K3L7.

III K3

IV c03

20. V K3
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sRIKALISWARICOTLEGE(AUTONOMOUS),SIVAKASI
DEPARTMENT OF BUSINESS ADMINISTRATION

z'Y'Htl;JYifrffiil:+'.
coRE couRSE -XI: HUMAN RESOURCE MANAGEMENT - z|UBAC43/2IUBPC43

(From 2O2L-2O22 Batch Onwards)
QUIz

Name of the Student:
Class : II BBA & II BBA (CA)

Register No:

Date tLL.04.2022

Qn.
No

o
oOE

t) t<LO3u
CJ5

Questions

Choose the Correct Answer:

co1 K1 ,

Which of the following is the process of monitoring the personnel functions

that are erformed in conformi ans and directions?

a) Planning b) Organising c) Directing d) Controlling

Which of the following refers to the process o f efficiently achieving the

o ectives of the and le?
I a) Management b) tion c) Decision

Making
d) Controlling

Which of the following is a division o f total work into packages or position?

II c01 K1
a) fob b) Salary cJ Selection

What is the other name of Sensitivity Training?

co1 K1 a) Laboratory /T
Group Training

b) In Basket
Training

c) Role Playing d) Case Study

Which of the following method,

class room?

actual work conditions are stimulated in a

c01 K1
a)Role Playing b)Lecture Method cJVestibule

Training
d)Conference

Which one of the following is a not method of performance aPPraisal?

c01 K1 a)Trait b)Behavioural c)Results d) Non
Behavioural

Which one of the following is the remuner ation paid to the clerical hnd

ma ersonnel em on month basis?
ry c01 K1

a)lncome b)Wage cJSalary d) Expenditure

Which of the following is the Personal improvemen t one undertakes to achieve

a ersonal career ?
c01 K1

aJCareer Planning b)Career cJCareer d)Career

Devel ment

Path

Who developed the concept of worker participation in management?

c01 a) Keith Davis bJMarshall c)Robert dJFayol

0-iotr>oqJ
HV

with
2.

d) Performance3.

III



atWh ais formpopular of ourab cl tioparti npa M entanagem
aJ Co-

brshi
on

c) foint
consul

which no ofe the foll does otowing in ucl de th retrench men es?programm

d) Work Sharing
What kind of Interview is pre planned and held in a rmal atmosphere?

isWhat the other name fo asscl ification odmeth to ob ueval ati ?on

d)Percentage

chwhi ro onmotip mats wide uttho lncrease n salary?

c) Dry

chwhi of the fo thIlowing ehelps employees raspeciSr tecorpo esCIcompetenand b ilu ud wlkno nt str es?

Develo ment
b) E-Training &

the find ou t'the operative function ot HRM

c)Organising

ty,
Find the tes ts use to measure itab tiES like manual dexten moto bili andtyco-o rdination ida tes.
aJPsychomotor
Tests

b) Intelligence
Tests A tude Tests

c)Mechanical

TestsA tud,
d)CIerical

ouFind t the other na of onme the trainobj mething ods

b)]ob Instruction c)Discussion
Train

d) Audio Visual
Traini

K3

Find out th amoun of leftsalary theto emp afterloyee au edthorisoucti makingns.

Fin td he followi reng ts forpresen the total tcategory technolo basedIea twwhi le no line ea ts s wlth web based earniAJE-Training &
Development d) Recrui tment

t*
UI
t9

Head of the Dep
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principat
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stvAKASt . 620 130

I co2
c)Layoffs

K1

K2

K2

K2

bl Management
dJ Wo,rk

c) Patternedb) Structured

b) Grading

d) Formal
a) Informal

aJRate
c)Point

co2

13. III co2

14. IV K2

d) Wet

c) Recruitment d)
a) a) E- Business

a) Horizontal Vertical

15. V co2 K2

1.6. I co3 K3

dJDirecting

L7, co3 K3

18. c03

c03

K3

Na', ominal wage b) Realwage c) wage dl home

a)0ff b

b) E.c) Business

Mc{-

MCourse
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a.

SRI KALISWARI COLI,EGE AUTONOMO SIVAKASI
TMENT oF AND OTE ADMINISTRA ONTILHURITO SMEPD AR

B. Sc DEGREE EXAMINATION * I SEMESTER_N 2A2l
D AND BEVERAGE SERVICII- 21UIIMA11ALLIED COI-IRSE-I: IIIJNDAMENTALS Of FOO

NAME:
CLASS: I B.SC THA

QUIZ
DATE:10.10.2021
TIME:3Omins

20 xl =20MUI,TIPLE CIIOICE QUESTIONS

d) Apertusc) Aperitivus

What is the Latin words for aperitil?

I co1 K1 a)Aperiet

Choose the Correct Answer:

b) Appetite

Qn.
No

o
6)F
.hl '-9

l=, .aC)
Ol;V

tif for drink ?ofHow can
d) Rumc) beercol K1

a) Champagne
2 b) Wine

Horv will Serving aperitif ?

d)llotha&bcJ Mock tailb)Mixersa) Ice & Watercol K1a
J

I{ow much alcohol percentage fbr aperitif drink?

d) 20 - 30%c) 10- 15%b J 18 -Zt)o/oK1 a) 16 - 24o/o4. co1

What kind of style aperitif
K25 c02

Calculate the campari liqueur is one of the

d) pinot noir

flavored drink

d) funiper

c) Calvadosa) Campari b) Pisca

cJ Iloseleta) IIerb bJ Bitterc02 t<26.

drink from -------lixpand cinzano was one of the favorite
d)Africac)Germanyb) ljrancea) Italy

K27 c02

Compute the vermouth wine types in market?

dJ Twoc) Sevena) One
cC2 t<28

c) Stira) Blending
c03 t(39

Apply on manufacturing a aperitif wine

b) Five
,)

b) Pot dj l'}attern

I l-1.1t



10 co3 K3

State how much period for wine maturing for aPeritifl

a)7 b)3 c)B d) 10

11 co3 K3

tOe,"rtify the accompliment pair of aperiti f?

a) Fried nuts b) Bread sticks c) Cashew d) Allthe above

12. co3 K3
Estimate on which bran is in Normand ?

a) Calvados b) Cognac c) Alsace d) Champagne

13. c03 K3
Outline the year anton iocarpino invented modern vermouth?

a) 1796 b) 18e6 c) 1996 d) l6e6

14. co3 K3

Identify on the meaning of bitter drinks?

a)Aperiet b) Appetite c) Aperitivus d) Apertus

lain le about vermouth?

a) liquor b) liqueor c) beer d) Rum15 col K1

[{ow campari liqueur is onc of the ------ ---- flavored drink

r6. co1 K1 a) Ice & Water b)Mixers c) Mock tail d)Botha&b

Which place cinzano was one of the favorite drink from.'------

17. col K1 b ) newyork c) alaska d) none ofthese

What is the meaning of traditional aperitifl

c02 K2
a) Campari b) Pisca c) Calvados d) pinot noir

Describe on which century aperitif can served in cafd?

a) 1 7th b) 19th c) 23rd d) nothing19. co2 K2

Show him an servln bitters for est?

a) Champagne b) Wine c) liquid d) Rumc02 K2

a)'fanzania

18.

20.
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Answers:

1 2 3 4 5

6 7 B I 10

11 12 13 14 15

16 17 18 19 2A
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Sri Kaliswari College (Autonomous), Sivakasi
Department of Botany

RECENT ADVANCES IN BOTANY -- 21PBYO33
(From 2021 - 2022 Batch onwards)

Ouiz Test
Class: II M.Sc., Botany Semester: III Date:14.W..2022

Qn.
No

c)gE
LO
!:9

'- q)E>
8+
=V

Questions

Choose the Correct Answer:

I co1 K1
Which one is first identified crop plant genome sequence is

a)Maize b) Wheat c) Rice d) Barley

2. K1

The classification of the data mining system consists

a) machine leaming b) Information
science

c) Database

technology
d) All of the above

a
J co2 K1

Which of the following is the sweetest sugar

a) Sucrose b) Glucose c) Fructose d) Maltose

4. c02 K1

Which one is correct the crude drugs are arranged in the order of their first letter of
names is called as

a) Alphabetical b)

Pharmacological

c) Chemical d) Morphological

5 c02 KI
Select the size of Nano materials

a) 1/100000000 b) 1/10000 c) 1/l d) 1i10000000

Answer in a Wortl or a Sentence:

6. co1 K1 What is Genome annotation?

7 co1 K1 Describe the SNP

8 co1 K1 Explain the function of Xanthophylls.

9 coz K1 Define the Crude drugs.

10. c02 K1 List out the any three Nano materials.

coi

.:1

r,i
'...



Qn.
No

o)gE
rro
=o

LOE>A6)5T
=V

Questions

Choose the Correct Answer:

l1 co1 KI
The study of the full complement of proteins expressed by a genome called

a) Proteome b) Proteomics c) Genomics d) Protein

formation

t2. col K1

What is the generally length of Primers?

a) 20-30

nucleotides long
b) 40-50 c) as long as the

template is

d) taken according

to the amount

available

13 col KI
Which is the Protoalkaloids?

a) Amino alkaloid b) Pseudo alkaloid c) True alkaloid d) Extra alkaloids

t4 coz K1
Which drug not belongs to volatile oil?

a) Peppermint b) Clove c) Castor oil d) Garlic

15. co2 K1
What are the approaches used in making nanosystem?

a) Top-down b) Bottom-up c) Both a and b d) one direction

Answer in a Word or a Sentence:

t6. col KI Define the proteomics.

t7 col K1 Explain the Data mining.

18. c92 K1 What are the functions of Fatty acids?

t9. c02 K1 Define Volatile oils.

20. co2 K1 Describe the biocompatibility.
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Sri Kaliswari College (Autonomous), Sivakasi
Department of Botany

NON MAJOR ELECTIVE COURSE - I: HORTICULTURE - 21UBYN31
(From 2021 - 2022 Batch onwards)

Ouiz Test
Class: II B.Sc., NME Semester: III Date: 20.09.2022

Qn.
No
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Questions

Choose the Correct Answer:

1 col Ki
Which crop is considered as a spice crop from the following?

a)Pine apple b) Pepper c) Brinjal d) Potato

2 co1 K1
Find out the odd crop in Horticulture from the following.

a) Coconut bJ Banana c) Cho-Cho d) Rice

co1 KI
Which is not included in Horticultural crops?

a)Chilli b) Mango cJ Sugar cane dJ Millets

4. co1 K1

What is the botanical name of Papaya?

a) Papapya
carica

b) Piper longum c) Piper beetle d) Carica caricas

5 co2 K2
What is the study of fruits in Horticulture?

a) Olericulture bJ Pomology c) Floriculture dJ Arboriculture

Answer in a Word or a Sentence:

6 co1 K1 What is the name of study about Trees cultivation in Horticulture?

7 coz K2 What is the scope of Horticulture?

8. co2 K2 What is the importance of Horticulture?

9 co3 K3 What is Horticulture?

10. co3 K3 What are the different types of Horticulture?
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Questions

Choose the Corre'ct Answer:

1l co1 K1

What is the another name of layering?

a) Shading and
Blending

b) Shading and
Digging

c) Sowing and
Blending

dJ Planting and

t2 co1 K1

What method is followed for T shaped budding?

a) Cutting b)Grafting c) Layering d) Bonsai

13. co1 K1

What the suitable plants produced by air layering?

a) Trees and
Herbs

b) Trees and
Climber

c) Trees and
Shrubs

dl Shrubs and
Herbs

14. K1

What time of year is best for air layering?

aJ Autumn b) Spring cJ Winter d) Rain

i5. co2 K2
What is the other name known as T-budding?

a) Cover budding b) Shield budding c) X- Budding d) Graft budding

Answer in a Word or a Sentence:

16. col K1 What is leaf cutting propagation?

t7. co2 K2 What are the four types of stem cutting?

18 co2- K2 What plants grow from stem cutting?

19. co3 K3 Define layering?

20. co3 K3 What are examples for root cutting?
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SRI KALISWARI COTLEGE SIVAKASI
BCA DEGREE EXAMINATION APRI L,2023

II YEAR - IV SEMESTER
I:CCORE URSEo VI PENo URCEso TECHN OLOG ANY RDD BMS 2 UCAL 1c4

UIZ TEST
Academic Year 2022 - 2OZg Sern

Reg.No:

Total Marks: 20

Name:

Date

Qn.
No

oz
tt

or9(aF

68(J5
o

'<o
oo PART .- A

Answer all the questions
(20xl=20 Marks)

Choose the Correct Answer:

How many types of data models are there?t I co1 K1
a)1 b)2 cl 3 d 4
Which one of the following is commonly used to define the overall design of the
database?2 I co1 KL
a) Application
Programmer

b) Data Definition
Language c) Schema dJ Source Code

Who exactly ks the tualwor at Co ?levelncep
3. I co1 K1

a) Programmers b) Database
Administrator c) BothA&B d) Data

Which key is considered unique in a table?4. I co2 K2
a) Primary Key b) Candidate Key c) Foreign Kev er
Which is a set of entities of the share the same properties, orsame type that
attributes?5. II co1 K1

a) Entity Set b) Attribute Set c) Relation Set Modeld
several tity Relati, ?atwh anis ocrass ofation e titiesn anin En no rl'mode6. II co2 K2

a) Tuple b) Record c) Relationship Field
Find the approach used in E-R modeling technique.

7 II co3 K3 a) Top-Down
approach

b) Bottom-Up
qpproach

c) Left-Right
approach

d) None of the
Above

What happens normalizing relations relationwhen or ofsets ?
B. II coL K1

a) Data b) Fields c) Remove
Redundancy d) Database

State how the triggers are declared9 III co3
4)& b)@ c)! ,*d
Wh ich wing mparls operator ple relational culuto eth ltfo thets co no ln tu cal ?s10. III co1 K1

What command is used to create a new table in SQL?

=> All of the abovea C +b

11 III co1 K1

aJ Create Table b) Built Table c) Generate Table d) Open Table

1.2 III coz KZ denI wh oich tht foe co ISmmandstify toused alldeletellowing androws free up
a fromce taa leb ?

K3



aJ Drop b) Delete cJ Truncate dJ Update

13. ry co1 KL Which of the is a server side
al Javascript b') Jquery c) HTML PHP

L4. IV c03 K3
Can you identify the output of the following code?

=$ echo $a++
a)5 b)6 ^\ a,Llt d B

15. ry co1 K1 Which one of the is used to declare a variable in PHP?

al@ b)% cl$ &

16. N ao2 K2 would the variable of e?

a) $age ='99' b) $age ="99" cl $age = 99 d') $aee = 99.05

1.7. V co1 K1
What is the of PHP?

a) Home
Preprocessor

b) Hypertext
Preprocessor

c) High
Preprocessor

d) Highlevel
Preprocessor

18. V co1 K1 Which of the fo function used to the file?

a) fclosef) bJ fopen[) c) fileopenf) d

1.9. V c03 K3
Can u select the basic of a file function?
a) fclose('File
Name');

b) fclosing['File
Name');

c) fclosed['File
Name'J;

d) fcls['File
Name');

20. V COZ K2
Which function uires to the sess in PHP?

a) session-end[) b)session-destroy0 c) session-finish0 d) session-final

*********r.**

,h

r
LO URSI *L,t, p,6Bq6

n

f-lrro c'€ lne DEpn Brer€ NT

+

*.
@

/tl l'. '"t

principai
I R r ( 4.1:Slr-,{ill CpLLEGg

tA 'u t t;r '/'ii. E lr I ,
saUA(A.$i . 626 13g

How



SIVAKASISRI KALISWARI COtLEGE (AUTONOMO
BCA DEGREE EXAMINATION NIOVEM BBF.,2022

[I YEAR . XII SEMESTER
NON tr:Ro ELECTIVE C URSEo CSBASI Fo MPUTERSCO 2 U1 3 ICAN

Academic Year 2022 - ZOZT DD Seme
Name:
Date :
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PART - A

Answer all the questions
(20xl=20 Marks)

Choose the Correct Answer:

r measuring the physical quantities likeWhich computer is programmed fo
pressure, temperature and speed?1. I co1 K1
a) Digital
Computer

b) Analog
Computer omputer

c) Hybrid
d) Super Computer

following characteristicchwhi oone thf e ls a of a ter?compu2 I co1 K1
al High Speed bl Negative c) Direction d Positive
Can elS ect theyou for firstyear oerati COnrange ters?gen mpuJ I c01 K1
a) 1946-1955 !) 1956-1965 c) 1,966-L975 7976-1,995

llowing word is derived as a computer?Which of the fo4. I co1 KL
aJ Electronic !) Calculate c) Compute d Convert
Can you select the operation ofa com puter in the following?5. II co1 K1
a) Input _b) Register cJ Memory
whi rsch the abest fornswer tasthe k ot erfor ns?p mrng operatio6. II coz K2
a) Execution b) Process c) Operator d Overloa

perfoowH ?uldwo u rm syo accessuentialeq
7 II co3 K3 a) By the help of

Control Unit
bJ By the help of
Memory Unit

cJ By the help of
ALU

d) By the help of
Processor

memory?tWha forname MROB II co1 K1 'a) Non-Volatile b) Volatile c) Decrement d
Cap,XoU identify which one of the used for feeding the input to
a computer?

following cannot be
9. III co3 K3

eaker

b 4 c 2 1.
a 5

b Mouse
of are ?availableprogramming languages

ard
How many

stick
L0 III c01 KL

Which of the following is a readable program?L1 III co1 K1

d)

execution one line at a time?
a Co iler b I reter c Translator

a 2B b 2BAB c 101010 d 57
rm the lnab to deci nummal erb NVETSco foron Lr L0 0

a 20 b 22 c 25

aJ MLL b) HLL cJ CLL

eWhich will denotes

Transistor
Which of the is a hexadecimal number?

Can

2B

L2. co2 K2

13. IV c01 K1

14. IV c03 K3

is another

III



15. ry co1 K1 Which of the following is a bits representation?
a) 0 and l" b) True or False cJ Bytes d) GB

76. w co2 K2

What is the rnain idea about octai number system?
a) Programs often
display data in
octal format for
easy reading.

b) Programs often
storing data in
octal format for
easy reading.

c) Programs often
fetching data in
octal format for
easy reading.

dl Programs often
updating data in
octal forrnat for
easy reading"

L7. V co1 K1
What is the expansion of WAN?
al Local Area
Network

b) Wide Area
Network

c) Metropolitan
Area Network

d) Capitaiize Area
Network

18. V co1 K1
Which method of topology is in linear structure?

a) Star Topology b) Bus Topology c) Ring Topology
d) Hybrid
Topology

79. V co3 K3

Can you select the basic structure of an email address?
a)username@host.
subdomain.second
-level-
domain.first-level-
domain

b)username@host
.subdomain.secon
d-level-domain

c)username@host.
subdomain

d)username@host

20. V c01 K1
Which one of the following is a circular arrangements of system?

a) Spar Topology b) Bus Topology c) Ring Topology
d) Hybrid
Topology
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sRr KALTSWARI COLLEGE (AUTONOMOUS), STVAKASI
Department of Biotechnology

I Semester
(From 202L-2O22 Batch onwards)

Class
Subiect Name
Subiect Code

: I B.Sc. (BT)
: Environmental Studies
:21UESRl1

Date: 3L.10.2022
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Questions

Choose the Correct Answer:

7 c01 K1

Which layer of the atmosphere contains the ozone responsible for the absorption of UV

IUltra-Violet) light?
a)Stratosphere b) Troposphere c) Mesosphere d) Atmosphere

2. co1 K1

Which of the following is not a reason for the forest loss?

a)lnCreasing use of
wood

bJ Extinction of species c)Extensive use
of fuel wood

d)Mining and
building dams

co3 K3
Identiff the name of the outer layer of earth

a) Inner Core b) Core c) Mantle d)Crust

co2
Find the name of middle layer of the earth

a) Inner Core B) Core c) Mantle d)Crust

co1 K1
Which is an area of the land and dominated by trees

a)Forest bJDesert c)Hills d)Mountains

co2 K2

What is Primary consumer

a)Herbivores b)Carnivores c)Omnivores d)Herbi ominiores

co2
Indicate how many components were present in the ecosystem

a)One b)two c)three d)four

co3 K3

Identiff the correct grazingfood chain

a) Grass - Grasshopper
- Frog - Snake - Hawk

b)Grass - Frog -
Grasshopper- Snake -
Hawk

c) Grass -
Grasshopper -
Frog - Hawk -
Snake

d)Grass -
Grasshopper -
Snake - Frog -
Hawk

co1 K1

Which of the fbllowing is not a t),'pe of Ecological pyramid?

a)The pyramid of
number

b)The pyramid of
Biomabs

c)The pyramid
ofenergy :

d)The pyramid of
food I

5.

t-..t

o

3.

4. K2

6.

7. K2

L

9.



Find the abiotic components of the ecosystem
10. co1 K1

aJSoil b)Trees c)Animal d)Microorganisms

What is Biodiversity

co2 K1 a)Environmental
science

b)Subject in biology c)Verities life on
the earth

d)Distinction in
biology

What will happen when a large numbers of species goes extinct over a relatively short
period of time?

K2

a)Extirpation b)Mass-Extinction c)Extinction d)Mass defect

Find out the species which become abundant are called

co3 K3
a)Edge Species b)Keystone species cJEndemic

species
d)Foster species

How many species of living organisms has identified so far in world?
74. co1 K1

a) 8.7 to 8.9 million b) 5.7 to 5.9 million c) 2.1to 2.3 million d) 50 to 51 million

Define the number of species in a specific area in give time

15. co2 K2 a)Species
domination

b)Species richness c)Species evenness d)Species abundance

Find out the country which considered as the mega diverse country?
76. co3 K3 a)lndia b)usA c)Australia d) Brazil

What causes pollution

co2 K2 a) Human
activities

b)Trees c) Animal d)Aquatic organisms

Find out the green house gas

18. c03 K3
a)Nitrogen b)Oxygen c)Methane d)Carbon dioxide

What is GNC?

d) green fuelco2 K2 a) Polluted fuel b)Clean fuel c)Harmful fuel

Which river is mostly polluted in world?

a)Yamuna b)Cavery c)Chenab d) Gangaco1 K1

b{ -e
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. Sri Kaliswari College (Autonomous), Sivakasi
Department of Computer Science

2022 -2023 (ODD Semester)
I M.sc (Cs)

coRE couRsE - III: DISTRIBUTED OPERATTNG sysrEM (z1pcsc13)

QUrZ QUE$TrON

S.NO CO
K

one of the following is a tightly coupled
?

Which system where processors share on address

1. co1 K1

a) Distributed
operating b) Multiprocessor c) Real-time

dl Database
operating

Which one of the foll fails to executewhen thefailure

2. c01 K1 Process b

dl Communi
cation
Medium

ofWhich the createsfollowing program remotesome bo makesrjectS, toreferences these ectsobj
and forwaits toclients methoinvoke ds on bbtheseI K1 Server b Thread C

aConsider system res ofources thehaving same e. Thes aretyp resources shared 3by
andB CA, which haveprocesses ofdemands 3peak nda 6i,4 Find theresp value mofectively.

will otn occur
4. c03 K3 a 7 b 9 10c L3

Which one of the foll makes use of echo to detect deadlocks.

5. co1 K1
cJ diffusion

dl global
state
detection

a shared data at a time.Which one node to access

6. c01 K1

a) The
Migration

b) The Full-
Replication

c) The Central-
Server

d) The read-
Replicati
on
Algorith
m

ol notation used in vectorWhat is the for orderb
7 co2 K2 <= b c

Find the event is con the vector clock 4current
8 c03 K3 a b c 2

Which one of the data tolerance method ina or

9. c01 K1 b c
dl Replicati

on
oneWhich of the following ue TNmanagementMemory whichtechniq stores dansystem

fromdata usefor malnln
10. c01 K1 ntationa S b C d

What is the initial value for
77. c02 K2 1 2 3 4

mechanism?Which one mechanisms is athe

12. c01 K1 S b PCB c Mutex

d) Binary
Semapho
re

Which one of the followi is not a valid cess state
13 c01 K1 a b Newc Runnin

oneWhich theof ISthat obased n mPCprocessfollowing SMechani executeswhich on different
canand catecommuni with esCESS m ES edbas

L4, c01 K1

a) Inter Process
Communicati
on

b) Local
Procedure Call

cJ Remote
Machine
Invocation

d) Remote
Procedur
e Call

OUESTION

c) Secondary

m
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15. co1 K1

\tVhich on of the foll
a) Sinha-

was for databl
dMerritt Obermar

Which one of c Menasce -Muntz ck
the of data

is commonly employed in file systems to reduce ln

a Un d) Unmountb c\tVhich on of the a file can move to another server.
a Location d) Concurreb n cone of the is the to MTTR

a A d) Dependa
Which

Relia c Fault Tone of the architecture ls
aJ Monolithic suitable for FT based

Kernel c) Real Time dl AII of the
Above

b Micro Kernel Kernelone of the foll the
a Do

record
b c Undo d Redo

76. co1 K1

77. co1 K1

18. c01 K1

79, co1 KL

20. co1 K1



Sri Kaliswari College (Autonomous), Sivakasi
Department of Computer Science

2022-2OZg (Even Semester)
I B.Sc [CS)'A'

coRE couRsE II : Data structures and Algorithms (2lucscz1)
ourz QUESTT0N

s.No CO
K

LEVEL OUESTION

Which of the is a collection of data items?
co1 K1 A. Record B. File C, Stack D. Tree

Which d ls ed elem fro theen US to remove ents m
2. co1 K1 A. First B. Last C. Front D. Back

Which notation des a lower bound for ?n

3 co1 K1
A. Big O

notation
B. Omega

notation
C. Theta

notation
D. Little o

notation
Show the runni time of Po omial time ?

4 co3 K3 A. n B.O C. n D.O
Which of the is a linear data structure?

5 co1 K1 A. AVL tree B. B tree
C. Directed D. Linked

list
What is the initial node in the doub linked list?

6. co2 K2 A.0 B. 1. C. Null D. Em
Which r holds the address ofthe initial node?

7 c01 K1 A. Tail B. Initial C. Head D. Last
Which type of linked list stores the address of th
field of the last node?

e header node in the next

B co1 KL
A. Singly

linked list
B. Doubly

linked list
C. Circular

linked list t

D. Header
linked

What is the list of available of free called?

9. co2 K2 A. Free ool
What is the address art in the node called?

10. co1" K1 A. List B. Value C. Header D. Pointer
whi of the does e follows?

11 co1 K1 A. LIFO B. FIFO C. FILO D. LILO
Which function the to value of the stack?

72 co1 K1 ush isEm
Which of the following data insertion and deletion at eitherstructure allows
end?

c01 K1 B. Stack e

D. Dequeu

What is called
stack?

in a stach if a user tries to remove an element from empty

14. co2 K2 A. Overflow B. Underflow
C. Empty

collection

D. Garbag
e

collecti
on

infix notation and the foll infix notation AB*CD +

15. co3 K3 A. A*B C+DB. C+DC. A*B
D. A/B+C*

D

t.
queue?

B. Empty pool C. Null pool
D, Avail

pop[) peek[J

13. A. Arrav C. Queue



L6, c01 K1

Which is the topnlost node in a tree?

A. Leaf B. Chitd C. Root
D. Descen

dent

17. co2 K2
What is a sequence of consecutive edges called?

A. Way B, loint C. Route D. Path

18. co2 K2
What do you call the nodes that are at same level and share the same parent?

A. Leaf B. Root C. Sibline D. Child

L9. co1 K1

Which one is also known as "pe4ition exchange sort"?

A. Quick sort B, Bubble sort C. Radix sort
D. Heap

sort

20. c01 K1

Which sorting technique is used to update a master file from a transaction
file?

A. Insertion
sort

B. Selection
sort

C. Internal
sorting

D. Externa
I

sorting
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c)Ezra Pound d) F. R. Leavisa)T. S. Eliot bJ I. A. Richards

Explain how, according to T. S. Eliot, Shakespeare acquired essential history.

c)by visiting
historical places

d)by searching
historical readers

LL. coz K2

a)from British
Museum

b)from Plutarch

What, according to I. A. Richards, does the speaker of a political speech put first?

bJFeeling c)Tone d) Intention

L2 COZ K2

a)Sense

Indicate the name of the river over which Marlow sails, as he sets out for Africa.

c)Ganga d)Nile

73
co2 K2

a)Thames bJ Congo

Find the person who was acting as "Colonial agent" in Africa before Marlow sets out

for that place.

c)Dickens d)Rokins

74.
co2 K2

a) Kurtz b)James

Find the name of the actress mentioned in the play Look Back in Anger,

a)Helena b)Alison c)Madona d)Merlyn

co2 K2

Illustrate the thematic content of the poem "Fern Hill"

b)Autobiographic
al

c)Elegiac d)Satirical

L6. co2 K2

a)Biographical

What does the crowd do after Orwell leaves in "Shooting an Elephant"?

b) They take the
meat from the
elephant

c) They go back
home and leave
the spectacle

d) They laugh at Orwell

L7 co2 K2

a) They follow
0rwell

In what sense is the Bible a great novel?

b)lt is about God c)lt is
philosophy

d)lt is science.

18. co2 K2

a) It is the book of
life.

Describe the values that W.B.Yeats administers to his daughter in his poem "A

Prayer for my daughter".

d)pride and beauty

K2

a)custom and

culture
b)beauty and

fashion

c)style and

outlook

coz

Indicate the action that Jimmy Porter does at the beginning of the play Look Back in

Anger.

co2

d)eats breakfastaJreads Sunday
newspaper

b)cuts firewood c)prepares
breakfast

20.
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sRr rGtrswARr COTLEGE (AUTONOMOUS), STVAKAST
DEPARTMENT OF ENGTISH

B,A. ENGTISH DEGREE EXAMINATION. II SEMESTER
CORE COURSE III: BRITISH LITERATURE III- 2lUENCZ1

(From Z|ZL-ZOZ2 Batch onwards)
QUrz QUESTTONSDate:13.04.2022
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No
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Choose the CorrectAnswer:

e authors of Lyrical Bailads?Who were th1. c01 K1

a) Wordsworth
and Southey

bJWordsworth
and Keats

c)Wordsworth
and Coleridge

dJWordsworth and
Walter Scott

representative poet of Victorian age?
Who is the most2 c01 K1

aJ Elizabeth
Barret

b) Browning cJ Alfred
Tennyson

dJ Wordsworth

Who is known as "the prince of essayist"?3 c01

a Hazlitt b Lamb c Stratch

es Hazlitt describe Iike ,,
is mind on paper."?

Whom do a man pouring out h
4 c01 K1

aJ Burke b)Wordsworth c)Coleridge d)Keats

Who wanders Iike a cloud
a cloud"?

floating above hills and valleys in the poem',1 wandered lonely as
5 c01 K1

aJ the flower bJ the speaker c)the hills dJthe valleys
,soWh the rautho of WindermereLady Fan?

6 c01 K1

a) Oscar Wilde b) A. A. Milne c) William
Shakespeare

dl Madeline Cohen

Who is the author of the novel Kenilworth?7 c01 K1

aJ Lamb b)Sir Walter Scott cJWordsworth d)Hardy
What is the genre of Kenilworth?B.

coz K2 a)Historical novel b) Fantasy
Thriller

c)Science Fiction d)Gothic Novel

Tess of the d'Ilrbervilles?
What does fohn Durbeyfield Iearn at the beginning of

9

co2 K2 a) Thathe has
lost his job

aristocratic fami

b) That he comes
from an

c) That he won
the lottery

ErlynnFin inWhod, Mvites rs. toe the party?
10

co2 K2 a) Lord
windermere

b) Lady
windermere

cJ Duchess of
Berwick

Questions

K1

ls

That he is a princedl
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co2 K2

What does Lady Windermere say she will do if Mrs. Erlynne shows up to the party?

a) Send everyone
home

b) Insult her and
hit her

c) Hit her d) Insult

12.
co2 K2

Find the name of God of wine.

a) Hera b) Zeus c) Bacchus d) Hermes

13.

co2 K2

Find the year in which Eminen t Victorians was published by Lytton Strachey.

a)1918 b)Let7 c)\916 d)1e1s

co2 K2

What is the time line of Age of Wordsworth?

al 1798-1830 b) 1798-t882 c) 1798-1832 d) 1798-7822

15.

co3 K3

Find out the important prose writers of Age of Tennyson.

a) Thomas Carlyle b) Thomas Hardy c)Thomas

Carlyle and

Thomas Hardy

d) Thomas Carlyle and

John Ruskin

!6
c03 K3

Identifi/ hat is Mundane M tations referred inw u

a) Castle b)lnn cJVillage d) Book

77

c03 K3

What are the two Colours of roses that Lady Windermere is arranging at the party?

a) red and white, b) white and red c)yellow and d)pink and yellow

18.

c03 K3

In what sense is the Bible a great novel?

a) It is the book of
life.

b)lt is about God c)lt is d)lt is science.

79.
c03 K3

Identify the character who is known as Flibbertigibbet in Kenilworth

a) Edmund
Tressillian

b)Wayland Smith c)Dickie Sludge d)Richard Varney

20.
c03 K3

Find out the character who calls Tess "a damned witch of Babylon"?

a) Angel Clare b) Farmer groby c) Cuthbert Clare d) Alec d'urberville
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Date: 11.04.2023

Sri Kaliswari College (Autonomous), Sivakasi
Department of Commerce

Core Course III :Business accounting - 2lUCMC2l
Academic Year2022-2023 - Even Semester

Quiz Test

Time: 15 Minutes Total Marks: 20

NAME:

REGISTER NO.:

Qn
.N
o

6)

BELo E>,.i C)5iHY
Questions

Choose the Correct Answer:

1 col K1

How did you made the payment on the average due date?

a) No loss of interest to
either of them

b) Loss of interest to
the debtors

c) Loss of interest to
the creditors

d) Loss of interest to
the both debtors and
creditors

2. co1 KI

When the due date of a transaction falls beyond the date of settlement the entry must be made

a) Red ink interest
method

b) Blue ink method c) Black ink method d) Blue and red ink
method

co2 K2

Who was prepared to Account current and usually sent by whom?

a) Banker to customer b) Agent to party c) Lender to
borrower

d) All the above

4 co3 K3
How many methods of interest calculation in account current?

a)3 b)1 c)2 d)s

5 col KI
What would you prepare to calculate capital on a particular period under single entry system?

a)Balance sheet b) Statement of
affairs

c) Capital alc d) Drawings a/c

6. col K1

Which of the followinga/c only is maintained under single entry system?

a)Personal and Cash
alc

b) Real a/c c) Nominal a/c d) Cash a/c

c02 K2

What would be the amount of sales if the cost of goods sold is Rs. 5,40,000 and rate of gross
profit is 25oZ on sales? l

a) Rs.6,00,000 b) Rs.7,20,000 c) Rs.5,40,000' d) Rs.6,40,000

8 co3 K3

Which of the following system is acceptable by income tax authorities?

a) Single entry system b) Double entry
system

c) Branch accounts d) Departmental
accounts

9 co1 K1
What is the nature of Receipts and payments a/c?

a) Nominal a/c b) Real a/c c) Personal a/c d) Profit and loss a/c

CLASS:

J

7



col K1

Which one of the following account is prepared by Non-trading institution?

a) Profit and loss a/c b) Manufacturingalc c) Income and
expenditurea/c

d) Trading a/c

11. co2 K2

What is the account treatment for depreciation?

a) Revenue expenditure b) Capital
expenditure

c) Deferred revenue
expenditure

d) Capital profit

12. co3
What ls the result shown ln and payments alc?

a) Cash in hand b) Surplus or deficit c) Gross profit or
loss

d) Net profit or loss

13 co1 K1

What is the relationship between consignor and consignee?

a) Principal and agent b) Buyer and seller c) Debtor and
creditor

d) Bailor and bailee

14. co1 K1
What is called a loss which is natural and unavoidable?

a) Normal loss b) Abnormal loss c) Contingent d) Avoidable loss

15. co2 K2
In which account abnormal loss is credited?

a) Consignee a/c b) Consignor a/c c) Sales a/c d) Consignmenta/c

t6. co3 K3
Which one of the,following is non- recurring expense?

a) Salari'es b) Go down rent c) Port charges d) Advertisement

17. col K1

Which act regulates the business?

a) Companies act 1956 b) Indian Partnership
act 1932

c) Sale ofgoods act
1930

d) Contract act 1950

18. co1 K1

the account ofjoint venture business is closed?

a) On the completion
of a particular venture
activity

b) At the end of the
year

c) At the end of six
months

d) At the end of
three months

t9. co2 K2

What the relationship between the co venturers in the joint venture business?

a) Principal and Agent b) Debtor and

Creditor .

c) Consignor and
Consignee

d) Partners

co3
What is the nature ofjoint venture business?

a) General partnership b) Particular
partnership

C) Not limited to a
particular venture

d) Sole tradership
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SRI KALISWARI COLLEGE (AUTONOMOUS), SIVAKASI
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IYEAR-ISEMESTER
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(From 2021-2022 Batch onwards)
QUtz

Reg. No.:
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Qn.
No

ogE
LO
=q)

P+
E>AO)
Ol Questions

Choose the Correct Answer:

Which of the following business environment are known and controllable?

d) Trading business
Environment

b) Foreign business
Environment

c) International
business
Environment

co1 Ki a) Domestic
business
Environment

mode of entering into international business?lsWhich the traditional

c) Joint venture d) Subsidiaryb) Exportingco1
a) Licensing

Which one is the process of selling products to intermediate?

d) Indirect Exportb) Sales c) Importcoz K2
a) Direct Export

Find out which one type of forces that impacts business environment due to change in

c) Political d) Socialb) Cultural
co2 K2

a) Legal

Identiff the culture spreads from one place to another and such transmission.

d) Heritageb) Reputation c) Adoptiona) Difference
5 co3

What is the expansion of WTO?

d) World Trademark
Organization

c) World Trade
Organization

a) World Tariff
Organization

b) World Tax
Organization

col

What is the precursor of WTO?

d) EUc) SAARCa) NAFTA b) GATT'7. co1 K1

deals with the economic issues like Tariffs

and other trade bariers in many countries
followingFind out which one of the

d)c) World Bankb) wTocoz K2
a) ILO

Illustrate which one protect b1" infonnation and ideas ol' Intellectual Property Rights (IPR)

valued)c) Social valueb) Moral valuecoz K2
a) Ethical value

Identifr which one a multilateral treaty encompassing rules and disciples for an orderly

world
d) SAARCc) ECMa) GATT b) rTo

co3 K3

Which one is European union liee association?

d) A coinmonly
agreeil upon list of
lorvered tarifl's.

b) lJc{rnomic union. c) Monetary union.co1 K1 a) Economic and

monetary union
11

1

K12.

J.

4.

K3

KI6.

8.

r0.



coz Y\2

What is the application of knowledge redefines the boundaries of global business?

a) Cultural Values b) Society c) Technology d) Economy

13. co3
State which one of the following is not related to balance of payment

a) Financial account b) Capital Account c) Current Account d) Investment
Account

coi K1

Which one is maintains the foreign exchzurge reserves in India?

a) State Bank of
India

b) Resen e Bank of c) Finance Ministry
of India

d) EXIM India

15. co2

Indicate when India is facing continuous deficit in its balance of pa,vments in the f'oreign
exchange market
a) Appreciate
currency value

b) Depreciate
currency value

c) Show no specific
tendency

d) Show specific
tendency

co3 K3
Identiff the exchange rate entail delivery of trade currency within two business days.

a) Forward rate b) Future rate c) Spot rate d) Bid rate

col K1
Find out the dimension of e-commerce that enables commerce across national boundaries

a) Interaetitity b) Global reach c) Richness d) Ubiquity

coz

Find out which one is a simultaneous purchase and sale of foreign exchange for two
different dates

a) Cunency devalue b) swap c) Currency
valuation

d) Curency
exchange

co3 K3

Identiff the fgundation for contemporary supply chain management systems includes all of
the follorving except

a) Supply chain

sunplrtlcatlon

b) Continuous
inventory
replenishment

c) ERP systems d) B2B electronic
storefionts

20, co3 K3

Identiff which one the following set of applications and technologies that allow users to

create, edit, ar:d distribute content online is known

a) lnternet b) Social
Networking

c) Virtual Lit'e d) Web 2.0
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sRr KAtrswARr COILEGE IAUTONOMOUS), STVAKAST

_ B.Sc(Information Technology)
coRE COURSE V: pROGRAMMTNG rN IAiA - 21UrTC31

,A,cademic year Z0ZZ-Z0ZS (Odd Semester)

Quiz

Class: II B.Sc (IT)

No of Questions: 20

Name of the Student:

Dare: Lg-Lo-2a22

Maximum Marks: Z0

Reg No :

Qn.
No
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Choose the Correct Answer:

oWh dwas avaTesigned ?Programming language

1 c01 aJSun Microsystems b)Mozilla
Corporation

c)Amazon
Inc

Which code is generated after the compilation ofsource code?2 co1 K1
a b .Exe c .o Source CodeWhat S the Earl namer ofe ava PI la 2rogramming nguage

3. co1 K1
a)D b) Netbean c) Oak d) Eclipse
Can selectu breakyo sta enttem thn folleprocess owln8?

c01 K1 aJ entry loop b) exit loop c) terminate

Which one of the followi ng looping statement end with a semi colon?5 c01 K1
aJ while b) do - while c) for d) break

ch of eth foll S a aowing of clgrouplng ass ESvariety and inte rface er?togeth
c01 a) interface c) thread d) package

whi ch ncl eud classackagep es for bu liwindows, sts dan mttons, enus ?7 c01 K1
a) java.awt b) java.net c) java.lang dJ java.io
An Applet class contained which package?

B. c01 K1
a) J java.awt b) java.applet c) java.net d) java.lang
whi method the et cl enwhAp,pl ass, isit called actuall di ethv tresulsplays9. c01 K1
a) start(J b) initQ c) paintfl d) pointfi
Recal isthat whengenerated usan der soes omethi with soung10. co1 K1
a) Action b) Event Delegation

LL. co2 K2 Indicate which have a menu items and sub menus?collection of

d)Microsoft

4.
d) skip loop

K1
b)

of

a

Listenerc)



a) Menu b) List items cJ Constructor dJ frame
t2.

ndicate whi ch method ls a ofpart Abstract Window T toolki ?[AWTJco2 K2
a) displayfi b) paintfl cJ d) transientf

13. inheritedthe run method0 has been whi chby class?co2 K2
a) Scanner b) Math c) Thread d) My Thread

14
Indicate eth method reads rhe fromnput the askeyword a string.co2 K2
a) nextlntfl b)readLineI cJ next(J d) nextStringfl

15
Indicate the stype used to thechange one totype type.co2
aJ Typevalue bl Type casting cJ Symbolic d) Modifiability
dr, whichentify operator us sed to access the lns tance variabl CS andasscl o dmetho sects? ofbj16. c03 K3

aJ Instanceof b) Shift left c) Shift dJ Dot

17. owing?
Identi thety sentinel tn theoop follc03 K3
a) goto

bJ while cJ if d) if else
oFind allut Syntax errors are also called?18. co3 a) Runtime error

error
compile time c) Exception dJ debug

19. c03 K3
a) Choice b) Lisr c) Labels d) Checkbox

20.
oFind ut the Mouse Event class exte nds that the asscl ?c03

aJ InputEvent bl ActionEvent c) component d) Container

Find out the passive controls that do not support any interaction with the user?

S ' tr-t ltr.f
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sRI KALISWARI COLLEGE (AUTONOMOUS), STVAKASX
ts.Sc (Information Technology)

CORE COURSE-I: PR.OGRAIVIMING IM - Z1UITC11
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QUrZ

Class: I B.Se [IT]

No of Questions:20

Name of the Student:

Qn.
No
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Who was the Father of C Programming Language?
1.. c01 K1

a) Robert |ohn b) Dennis Ritchie c) Stroustrup d) fames Gosling

accessing the members of a structure variable?How
2 co1 K1

a) dot bJ indirect c) selection dJ Arrow

t is another name for conditional operator?Wha
3. coL K1

a) ternary bJ increment c) decrement dJ assignment

4. K2
a) $$ bJ&& c) ll d)!

ow many integer values can the array A15] tS] store?H
5 co2 K2

a) 10 b) 2s c) 15 d) 24

What is another name for erator in ointer?6. COZ K2
a une b direction c bina

Which function is used to file contents in C?7
coz K2

a C tf fscanf

What exam find i++?e canB.
c03 K3

i+1a i+2 i-1c i-2d

Can select valid indirection n on for a9.
co3 K3

a b c

select exam e of write iCan value?10.
c03

..::

K3
a utw 1 1b etw c

, .ri., i.,.

,,' ,,i ''
.t,, : ,

Date: A7-!2-2OZ[

foIaximum lt{arks: 20

Reg No :

Choose the Correct Answer:

Which is the best answer in Logical AND?
co2



L1" co1 K1
Can you select another name of conditional operator?

a) ternary bJassignment cJincrement d)decrement

L2. co2 K2

Which is the best answer in Logical AND?

a) $$ b)&& c) Il d)!

13 co3 K3
What example can you find character arithmetic?

a) 10 bJa c)2.5 d)8.2

L4. c01 K1

Can you select break statement process in the following?

a)entry loop b)exit ioop c)terminate loop d)skip loop

15 co3 K3
Can you select which function returns the position of the first string?

a) strs bJstrn cJstrstr d)strc

t6 co2 K2
Which of the following values can be returned by the strcmp0 functions?

a) Positive bJNegative c)zero d)Null

77 c01 K1
Which one of the following is keyword of structure?

a)struct bJstr cJstru d)strc

18. c03 K3
Can you select valid indirection notation for a pointer?

a) -ptr bJ**ptr c)==ptr d)=ptr

19. co2 K2
What is meant by fseek function?
a)set the position b)rewind c)reset d)clear

20 K3
What example can you find to putc function?
aJputc[c,f].J bJputc[cJ c)putc[L,1) d)putc[0,0)

S - t'i.rl1(+
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Questions

Choose the Correct Answer:

I co1 KI
Which one of the following written document indicating the appropriation characteristics of
a suitable person?

a) Job Desk b) Job Evaluation c) Job Analysis d) Job Specification

2 co1
Which one is concerned with the regulation of activities in accordance with the plans?

a) Planning b) Organizing c) Directing d) Controlling

J coz K2

Find the systematic effort is made to ascertain the knowledge, skills & duties necessary to
perform certain jobs in the organization

a) Job Analysis
b) Human Resource
Planning

c) Recruitment
d) Selection

coz K2

What is the systematic process of attracting & encouraging relatively large number of
applicants to apply for the required iobs of the organization?
a) Planning b) Organizing

c) Selection d) Recruitment

5 co3 K3

Identity which one of the following is NOT a component of staffrng.

a) Training b) Human Resource
Planning

c) Recruitment d) Selection

col K1

Find out which one of the following is a modern internal source of recruitment

a) Walk in b) Consult in c) Recruitment d) Employees
referrals

7 col K1

Which one of the following is a Traditional external source of recruitment?

a) Campus
Recruitment

b) Walk in c) Consult in d) Outsourcing

coz K2
Find out the following one is not fall on core interview

a) Background b) Panel c) Depth d) Informal

9 coz K2

Indicate the employees use their skill, knowledge, ability and co-ordination.

a) Job rotation b) Training c) Team work d) Promotion

co3 K3

job to another job is called training Find out thelVlovement of the trainee from one

a) Coaching b) Job Rotation c) Inspection , d) Visiting

t1 co1 K1

Which of the follorving is categorized as an indirect payment portion of employee
cornpensation
a) Wages b) Salaries c) Employer - paid

insurance
d) Commissions

t

KI

4.

6.

8.

10.



coz
Find out W'hich one Follorving is a financial incentive

a) Bonus b) Job Security.' c) Medical fbcilities d) Conveyance

co3 K3

State which one of the following gives workers compensation, disability insurance, health
and hospital ization costs?

a) Employment
Benefits

b) Unemployment
Benefits

c) Insurance
Benefits

d) Optional Benefits

1.4. co1

Which one of following step to the management, to hiring and placing employees?

a) Performance
Management

b) Performance
analysis

c) Performance
appraisal

d) Performance
evaluation

15. coz
Find out which one correct inter,personal conflicts in an organization is advisable

a) Promotion b) Demotion c) Transfer d) Comrnunication

co3

Identiff the term r.r.hich is considered to be a veftical move in terms of rank and
responsibilities.

a) Appraisal b) Reward
c) Increment

d) Promotion

co1

Wlrat is Pluralistic approach perceives as legitimate representative of employee interests?

a) Trade unions b) Management c) Board of
l)irectors

d) Trade Head

coz K2

Shows the lockout in an industry is declared by

a) Union
Government

b) State Government c) Management d) Trade Union

ldentif,, the termination of the services of surplus employees from any organization

a) Disciplinary
action

b) ) Retirement c) Lay-off d) Retrenchment

20 K3

Find out which one of the following is the last weapon in the hands of workers.

a) Lay-off b) Lock-out c) Closure d) Shike

Answers

n ciglal

2 4

6 8

9 10 ll t2

t4 Ir1.! t6

\*i
t7 I 20

v&Bq a€ed"P-" i*l KAt!$'f{ARl ii0tLE0E
(Artsilolli#t$f
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16. K3
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KALISWARI COLLEGE AUTONOMO SIVAKASI
DEPARTMENT oF TOURISM AND HO'TEL MINISTRATIONAD

B. Sc DEGREE TI N II SEMESTER 2022o
PRODUC'I' OF INDI A- zIUTI}J{CzzCORE COURSE-V: TOURISM

QULZ
NAME:
CLASS: I B.SC TI-IA

DATE 214.3.2022
TIME :3Omins

20 xl=20MULTIPLE CIIOICE QUESTIONS

0)0) r-laE ^a=
A0)
Al

=V

What is the fundarnental ingredients o f the tourism?
co1 K1 a) Sight seeing

Why tourism infrastructure is quite strong in the rural areas?

b) Iiuropean

countries

2. co1

Flow tourism involves travel for the purpose of observing the culture....'..

c) Senior

citizen

tourism

b) Ilthnic

tourism

a) Rural

tourism

fer to both 

-- 
andChoose the Wildlife is the term used to re

components

a) Flora and

fauna

Indicate on many tour operators specta lizc only in 

-
b) Wild life

tourism

a) Space

tourism
coT

Irind out any activity designed to spread information with a view to promoting

the salcs it is called as ------
aJ Affinity

group

f'catures which collectivc or singlc crcatc

the appeal it is called as ' 
- 
'

Show him one Natural or man . ffiald0

EXAMIN

Qn.
No

Choose the Correct Anslver:

d.)Businessc.)Environment
---- i

b.)Cultural1

d) Americac) Goaa) AfricaK1

dl Wildlife

K1col

cJ PoachingK14. d) Huntingb) Protectionco1

d.)llural tourismc) Eco tourism
K25.

c) Ainenitiesco2 K26. b) Airline d.)Advertising

coz K2l



a) Antiquates b) Adventure c) Attraction d.)Advertising

8 co2 K2 What is the abbreviation of VIR

a) Visiting

friends and

relatives

b.)Virgin form

regions

c.JVarious friends

and rest

d.JVariety of
food

restaurant

9 c03 I(3 Identify a tourism is also known as pilgrimage or spiritual tourism

a) Sports bl Business cJ Health d.) lleligious

10. c03 K3 Discover among the Uttar Pradesh is amongst the old living cities in the world

a) Flaridwar b) I(ashi c) I(umbh

mela

d.)Varanasi

1l co3 K3
List out any onc recognized as the most important segment for revenues for

the hotel industry...

aJ IJusiness

travel

b) Convocation

travel

c) Excursion

tlavel

d) Family

travel

12. c03 K3 Find out the term spa stands for

a) Ilejoice b) Yoga c) Reiki d) Sanus

per

aquam

13 co2 K2 Translate the offers many alternative forms?

a) Alternative

tourism

b) Special

interest

tourism

c) Ecotourism d) Wildlife

tourism

t4. co2 K2 Expand religious significance has been associated with places

a) Ileligious

tourism

b) Sports c) Cultural d) Adventu

re

15 c02 K2

a) Alternative

therapy

b) Medical

tourism

c) Change of

climate

d) Special

interest

Which one is nowadays regarded as a key to sustainable development....,..,.t6. co1 K1

a) Special

intcrest

b) Alternative c) Ethnic d) Rural

17. col K1 LIow they consists of companie-s, business houses ..

Calculate the dcstination is popular because of alternative health available in

thc form of ayurvedic trcatment



a) Convention b) Corporate

sector

c) Convention

center

d.) Meeting
center

18. co1
When the person who is likely to purchase a tourist product or to possibly

Lrecome a tourist is known as

a) Resort b) Potential

tourist

c) scuba dl snorkeli

ng

t9. co3 K3
Estimate the organized efforts to promote tourism in India was made in the

vear

a) 1955 b) 1eB0 c) 1.945 d) 7e70

co3 K3
Discover the committee was set up by the Government of India under the

chairmanship is

a) Sindhu b) Marco polo c) Sir john

sergeant

Answers:

1 2 3 4 5

6 7 8 o 10

11 12 13 14 15

16 17 18 19 20

W
U

ln
{'

signature

K1

20.

d) Vasco

da

gama

V
#
\!r

tr
"p

*

()
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sRr KALTSWART COLLEGE (AUTONOMOUS), STVAKAST
II M.Sc Mathematics - IV Semester Q022 -2023)eoRE COURSE - XIV: NUMBER THEORY AND CRYPT0GRAPHY -2tpMAC42

(From 2021-2022 Batch onwards)

QuizDate:24"04"2023 Time:20 minutes

Qn"
No

z
c)

3Erro

u5

3=t
E>;c)
O['ilV

Which of the following is not completely multiplicative?
I

I
co1 K2

a) q(n) bl p(n) c) A(n) d) I[n]
Wha t is the value of A(1)?

co2 K3
a 0 b I 2 c 3

What is the average order of p(n)?
a
J

II
co1 K2 -3n

a) *' qh c)0 d)
fiz

How many solutions does the congruence 25 x = LS(mod 720)have?co2 K3
a exactl two four c one five
What is the value of where ls rime?

5
m

co1 K2 t c 0 d -L
What is the value of 22 Ll ?6.

co2 K3
a 0 L 11c d L

of the following are quadratic residues mod p when g is a primitive root
is an odd me?mod and

WhichIV

cor K2
a) 92, ga, ... go-r b) s, , .,,9P c) both (a) and d) neither (a)

nor
What is the value of ind 1?

8 co2 K3
1 b -L C 0 d 2

Which of is the linear
9

V
co1 K2

character block c
V/hich of the is a variation of

10 co1 K2 b) block ci

11. I Find the value of
K2

1 K2
1 Find the value of lr=*p(n)
15. Which law states that if p and q are distinct odd primes, then (plq) = (qlp) unless

in which casemod ?

Find the quadratic non residues modulo 11.

What is if tive root mod and :l?lSa
Find the value of ind 1

V 1 K2 How many possible values are there for the encryption vector E, while encipher an n-
character m

K2 By which of the following, recipient can know that the message receivedthe intended
was frorn an source 1n

ncinal k
$RI hMLI$!1J&RI CIOLLEGE,

{Au i'u ncttr ls +r+ }

stvAi.Rsi '626 130

Head of the

Questions

Choose the Correct Answer:

2.
I

d)1

4.
il

blp
ilt

7

IV

d) public kev
V

a) character cipher c) Public-key
cryptosystem

d) exponential
cipher

Answer in a Word or a Sentence:

coz K3
T2, I cot State the well-ordering principle.
l3 II State Wilson's theorem.

II c02 K3 x

ilt c()1 K2

16. uI co2 K3

17. IV col K2
18. IV coz K3

=!+
'- -,
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SRI KATISWART COLI,EGE AUTONOMO SIVAKASI
E.Sc MATItrEMATICS DEGREE EXAMINATION N 2022

[I YEAR. - III SEMESTER
ENT COI,JRSE - III: ASTRONOMY- 21U[IIA,S3t

QIJIZ
(From 2OZL-2O22 Batch onwards)

Date; 4X.L1,.2422
Duration: 20 Minutes

Maximurn Marks; 20

oz
c,

c5z
Q

or9(,lr

d8U5o

(h-
io)tr>oo
H!4

Questions

Choose the Correct Answer:

1. I co1 K1

How will you call the position on the surface of a sphere enclosed by two
great circles?
a) lune b) spherical

triangle
c) spherical
quadrilateral

d) polar triangle

2. II c01 K1
How many right angles do a spherical triangle can have?
a) one b) two c) three d) one or two or

three

3. III c01 K1
How will you call the axis of diurnal rotation of the celestial sphere?
a) celestial
horizon

b) celestial axis cJ celestial
meridian

d) celestial equator

4. ry co1 K1
For how many days the longitude and the Right ascension of the sun are
equal?
aJ one bJ two cJ three d) four

5 V co1 K1
How cari we call the time when centre of the sun is 60 below the horizon?
a) Astronomical
twilieht

bJ nautical
twilieht

cJ civil twilight d) twilight

6. I co2 K2
What is the sum of three sides of a spherical triangle?

7 II co2 K2
In a spherical triangle ABC,right angled at C, what is the value ofsin a?

a) sin c sin.A b)sin c sin B c) sin b sin ^4 d) sin b sin B

B. II co2 KZ
In a spherical triangle ABC,rieht angled at C, what is the value ofcos c?

a) cotl cotB b) cot acotB c) cot,  cot b dJ cot acotb

9 III COZ K2
Into how many hemispheres does the meridian divide the celestial
sphere?
a) one b) two c) three d) four

10 III co2 K2
How will you call the position of a celestial body when it is on the prime
vertical in the western side?
aJ due east b) due west cJ due north d) due south

t7. II co1 K1 State five parts formula.
III co1 K1 Which science deals with celestial bodies?

t3 ry c01 K1 Write the expression for Dip of horizon
L4. V c01 K1 Find the number of days having twilight throughout night.
15 I co2 K2 Find the sum of the angles of a spherical triangle.

L6. I co2 K2
lf A'B'C' is the polar triangle of a spherical triangle ABC , then What is the
polar triangle of A'B'C'?

t7. III co2 KZ Define northern and southern hemispheres.
1B ru co3 K3 Compute the daily increase in the longitude of the sun.

t2.



19. ry c03 Compute the angular velocity of rotation of earth"
20. V c03 Compute the shortest duration of twilieht.

t

h

{:
)r

*
UJ
o

W
Head of the

FrinciPal
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sRr KALTSWART COTLEGE (AUTONOMOUS), STVAKAST
Department of Physics (EVEN 22-23)

CORE COURSE II: HEATAND THERMODYNAMICS _2IUPHC2I

Datez 06.04.2023 (From 2021-2022 Batch onwards)

qi;rz rusr

CIass:

Qn.
No

o)gt
Lo

Questions

Choose the Correct Answer:

How many degrees offreedom monofor atomic ?gas

a)2 cJ3b)s d)7
col KI

Which of the following is diatomic gas?
2. col KI

aJOxygen bJArgon c)Helium dJNeon

Which of the following elements exhibits positive Thomson effect?
cor K1

a)lron bJAntimony c)Cobalt d) Nickel

following method used to determine the thermal conductivity ofWhich of the
good conductors?col
a) Lee's Disc b) Forbe's c) Searle's d)AIl the above

Which one of the following:is related to first law of thermodynamics?
col KI

aJTemperature b)Pressure c)EnergSr d)Area

Choose the value ofgas constant.
6. col KI

a) B.B1fK-rmsl-r b) 9.31|K-tmol-r c) 8.31|K-hsl-r d) 9.81|K-tmol-t

Which one of these is intensive variable?
CO, K1

a) area b) entropy c) temperature d) volume

Choose the correct value of critical volume V. according to Van der Waals'gas
equation.8. coz K2
a)%=b b) %=3b c) %=2b d) None ofthese

Which of the following is not reversible?
9 coz K2

a) foules effect bJ Peltier effect c) Seebeck effect d) Thomson effect

Find the expression of Peltier coefficient.
co2 K2 - LdEAlrt=--) TdT b'ln = 4'dT

c)r:f!! d)r =7zE
Find the effective temperature of the sun (in Photosphere)

ll. co2 K2
a) 6000K b)s000K c)7000K d) 3s00K

Which one of the following represents the equation of motion of fluid?
co2 K2

a) q(P,V) : T b) q(P,tr/) = o c) q(T,V) = P d) q(7,7) = 0

Which of the following represents efficiency of Carnot's engine?
13. coz K2

a)n =1-f b)n =1+* .?;
CJTI =; d)r =*

Which one of the following represents the Helmholtzfree energy function?
14. coz K2

a)F = U+TS b) F= U-TS c) F = U+PV d) F= U+PV-TS

15. co3 K3 Find the ratio between Cp and Cu for diatomic gas.

No:
.:,

E>
d€)
Or;\Z

I

J.

4. KI

5.

7.

10.

12.



a) 7.67 b) 1.40 c) 1.00 d)2

t6 co3 K3
Atwhat temperature do the Kelvin and Fahrenheit scales coincide?

a) 500K b) 574K c) 574.25 d) s7s.2s

t7 co3 K3
Calculate the radiant emittance of a black body at 2000 K.

a)907.5 kW/mz b) 90.75 kW/mz c) 9,075 kWlmz d) 0.9075 kW/mz

18. co3
What is the value of increase in internal energy when an ideal
lqlheqqal process?

gas undergoing

a)0 b)1 CJo( dl -1

t9 co3 K3
What is the unit of entropy?

aJ foule/Kelvin b) Cal/Kelvin c)Both (a) and (b) d) None ofthese

20. co3 K3
Find the equivalent of 90o C.

a) 363 K b)e0K c)273K d)36K

('6D
Signature of the Course Teacher Signature of the HoD

Principal
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(Aut*non: r ur.)
stvAKASt . 626 130

*
P

14
*
,$lo

*

K3

G



SRI KALISWARI COLLEGE (AUTONOMOUS), SIYAKASI
DEPARTMENT OF CHEMISTRY

I YEAR II SEMESTER
ALLIED COURSE - II: ALLIED CIIEMISTRY - II (2lUBTAzllzlUBYAzl)

AUIZ TEST
Name &Reg, No: !ate: 19'05'2022

Time:30 mins

K
level

When a is a reaction
c)the AH of the
reaction is
changed

b)the
equilibrium
position of the
reaction is
shifted

aJthe reaction rate is
changed

Indicate which is used the inversion of cane

c invertaseb urease
KZ

Which of the foll will de electric current?on
alcoholc verK1

a

Show the Henderson uation.

5 c01 K1

Show the ,henomenon bomb
b)chemical
reaction

coz

What is the monomer in natural rubber.
reneb isa

coz K2

What is the polymer material used in tes?.

ccoz K2

What is the monomer P resent in natural rubber.
d)formaldehydea

What is material ln
cb

c01 K1
What is meant tiveZ K2

13 c01 K1
K3t4 co3
K1 When N1s is bombarded with a it and15. co1
K3 List out radioactive series?t6. c03

Illustrate the use of n in aircraftt7. co2

a.
NO

CO'S Questions

the Correct

d)all of these

1. co1 K1

2. co7 :alzvmase

J. co1

4. COZ K2 aJpH=pKa+log[A-
I /IHAI

bJpH=pKa+log
IHAI /IA-I

c)pH=pKa+log[H
A1

+log[A-

is the correct an

a)zHea b)on1 C1-reo d)rp1

6. KZ a)nuclear explosion cJnuclear fusion dJnuclear fission

7.

8.

9. co2 K2 b)isoprene c)phenol "

10.

11.

co2 K2

12.

g!tt vt

K2



i

,{

18 co1 K1 Label lype of polymerisation where polyethylene belongs?
19. coz K2 Illustrate the use of nylon in aircraft industry.
20 co1 K1 Label the type of polymqisation where polyethylene belongs?

Signature of the Course Teacher sigffi,,r the HoD

p
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